




T = Ti  at  t = 0  
T = T(t)  at  t = t 



The rate of convection HT between the body and its environment at time t

The total amount of HT over the time interval t = 0 to t 

The maximum heat transfer between the body and its surroundings 



The rate of convection HT between the body and its environment at time t

The total amount of HT over the time interval t = 0 to t 

The maximum heat transfer between the body and its surroundings 



The temperatures within the body 
relative to the surroundings 

Characteristic length 





























error function 

complementary error f 


























